
Rabbit 13

Kcal = Watt x 0.860
BTU = Watt x 3.413

Watt ∆t 60° = Watt ∆t 50° x 1.241
Watt ∆t 40° = Watt ∆t 50° x 0.768
Watt ∆t 30° = Watt ∆t 50° x 0.546
Watt ∆t 20° = Watt ∆t 50° x 0.338

p max = 10.0 bar

UNI EN 442      ∆t 50°  75°/65°/20°   -   ∆t 30°  55°/45°/20°
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Attacco standard

H cm L cm I* cm art* Lt* watt ∆t 30°   watt ∆t 50°

105,2 43,5  40.0 RBT13043105  2,8  266  487 
105,2 48,5  45.0 RBT13048105  3,0  306  560 
162,8  43.5  40.0 RBT13043163  4,4  418  766 
162,8  48.5  45.0 RBT13048163  4,6  480  880 




